34.89 x 10 = T+h= Lx7+3=

5 1
4678 + 863 = 5% of 4000 = §+§=
784 + 14 = 0.6 x 67 = 6754 - 3268 =
4 7 . _ )
gxﬁ— 2.65 + 10 492 x 16
4.86 + 87 = 96 - 07 = 1_1_
. . 6-0. >3
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8.02 x 100 = %+6= 32+ (8 - 4) =
5394 + 2758 = 10% of 367 = % + 11_1 -

630 + 45 = 09 x 84 = 8036 - 5479 =
%x%= 35.84 + 10 = 849 x 25 =
674 + 9.8 = N4 - 6.8 = %- % -
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Challenge 3

4,527 x 100 = 4 17-33+3 =
5+7=
2 3
7659 + 3572 = 22% of 600 = vz
942 + 24 = 674 x 0.6 = 11524 - 6987 =
3. 11 . ) _
PRk 478.6 + 100 938 x 67
2298 + 83 = 317 - 16.85 = 4_3_
9 8
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Challenge &

0.064 x 1000 = §+9= M+3224=

2 5
8923 + 7098 = 35% of 540 = 2,3,
5529 + 57 = 0.08 x 29 = 16 254 - 9782 =
2.2, 576.2 + 100 = 2683 x 19 =
7%%
3333 + 76 = 134 - 10.65 = g - % -

g
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4578 x 1000 = 53" (19 - 8) x &4 =
5 43
12 364 + 9758 = 27% of 900 = 52+33-

4131 = 72 = 0.09 x 686 = 39 402 - 36 791 =
8 2 . _ =
6x§= 806 + 1000 = 8349 x 58 =
8924 + 7.6 = 56.3 - 27.67 = 32.6.

: . ’ ’ 5 10

&<
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Challenge 6

6795 x 1000 =

(8 +3) x 12 =

27 436 + 7987 =

33% of 1800 =

N|=
wl—=

7056 + 63 = 492 x 0.02 = 24 346 - 21957 =

3 5 .

sx2- 237 + 1000 = 3889 x 36 =
3_53_

59 + 6.867 = 2346 - 179 = be-27-=

&y
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